Efficiency vs dr

=
N

0.8

0.6

0.4

0.2

1.0

0.95

1078 10*2 107 1

[ fake+duplicates vs AR |

—=— DQM_TT__mkFit-DQM_original
— DQM TT mkFlt DQM_] modlfled3

[ Efficiency vs dr (track,jet) |

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Vs

[y

107 1072 107

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

o
+

I
FH
) 4

H+++++++++H+H

093

0 30 40 50 60 70 80 90 100

[ fake+duplicates vs AR(track, jet) |

0.05
0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005
Vel

iy

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

o
NJo
O[T

3640 5060 70 B0 90 100



	Contents
	Page 1


